First year Maths - Chapter 1 -  Natural Numbers
Question 1.
(a) What is a Natural number?

(b) 
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(c) What is a Prime number?
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Evaluate each of these:

@M 2x8-5 () 14— 33 (i) 3 < (7 + 3)

(v) 412+ (8 —6) (V) 44 +4+3x7 i) (7 —3)x<4+16+8

An aeroplane lands at Rome on its way to Cairo.
183 people got off and 42 got on.

If there were then 235 people on the plane, how many people were on the plane
Fiona has four cards.
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() Write the smallest number Fiona can make using all four cards.
(i) Write the largest number Fiona can make using all four cards.
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Fiona uses the cards to make a true statement.

) Write this calculation.
Use each of the numbers on Fiona’s cards once.
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| Text & Tests 1 Junior

Test yourself 1

nd the value of each of these:
634 + 95 — 237 Gi) 2% (3 +5) — 37

G

2. Write down

@) the highest common factor of 16 and 40

the lowest common multiple of 6 and 9.

3. () Listall the prime numbers in this array:
2,4,5,9,11,16,19,21

List all the factors of 28.

Now write 28 as a product of its prime factors.
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4. Write down the values of the numbers A, B, C and D which are marked with arrows
the following

200 300 400 500

5. Evaluate each of these:

@

14-3x3 3= (7 +3)
V) 44 +4+3x7 i) (7 —3)x4+16+8
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Chapter 1 Natural Numbers

Choosing numbers from 3, 4,9, 13, 15, 23, 25, 28, 64, write down
three prime numbers.

a multiple of 7

three numbers which are factors of 60

(V) four numbers whose square roots are whole numbers.

9. Round each number to the nearest 10 and make an estimate of the answer to each
of these:

4 6357 204 x 96 396 x 304
M 83 Gy 204 i .

10. Evaluate each of these:
@M 6x(5+3)—8=+2 (i)
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11. There are 576 pupils in a school.
If there are 48 more boys than g

1s, how many girls are there in the school?

12. Write these numbers in order, starting with the smallest:
° vas 2% 27 %3 Vea + 2 V(100 — 64)

13. The table on the right gives the areas, in square [ Country |  Area |

kilometres, of five member states of the FE5im

European Union. =
() Write each of these areas to the nearest 1000, | LuXembourg
(i) Which country has the smallest area? Spain
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3. () Listall the prime nu
2,4,5,9,11,16,19, 21

List all the factors of 28.

Now write 28 as a product of its prime factors.

4. Write down the values of the numbers A, B, C and D which are marked with arrows
in the following diagrams:
A

1]

l—w
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200 300 400 500

5. Evaluate each of these:
M 2x8—5 i) 14 —3x3
G(v) 412+ (8 — 6) ™) 44+ 4+3x7

) 3% (7 +3)
(7-3)x<4+16+ 8

6. An aeroplane lands at Rome on its way to Cairo.
183 people got off and 42 got on.
If there were then 235 people on the plane, how many people were on the plane
before it landed?
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Fiona puts all four cards on the table to make a number.
(i) Write the smallest number Fiona can make using all four cards.
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1.

LEN

14,

Round each number
of these:
63 < 57 204 > 96
e Gy 202 <96

Evaluate each of these:

d make an estimate of the ans\ﬂ(o each

396 > 304

Gi) =

30 —(3x2)

M) 6x(5+3)—8+2 0 ¢

There are 576 pupils in a school.

If there are 48 more boys than girls, how many girls are there in the school?

Write these numbers in order, starting with the smallest:
° vas 2% 27 %3 Vea + 2 V(100 — 64)

The table on the right gives the areas, in square [ Country |  Area |

kilometres, of five member states of the BRIGTT S0I5iS]
European Union.

i) Write each of these areas to the nearest 1000, | Luxembourg 2576)
Which country has the smallest area? Spain 504782
One country has about six times the area of Portugal 92082
another country. France 547026

Name these two countries.
(iv) One country is about one third the size of another country.
Name these two countries.

Find the value of each of these:
@ 15— 10+2+7 x4 (i) 3 4%+ 36 + 27

State whether each of the following is true or false.
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